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(1) print("3 *" * 3 + "\n")
(2) print("3\t*" * 3 + "\n")
(3) print("3" + "3" + "3" + "\n")
(4) printf ("%d\t%d\t%d" + "\n", 3, 3, 3)
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(1) chomp (2) puts (3) to_i (4) to_£
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t=[1, 2, 5, 9, 14, 20, 27]
print("O000000O000O\n"
x = gets.to_1i
=0
= t.length - 1
while a < e
k= (a+e) /2
if t[k] == x
printf("4d OO OODO0O\n", k+1)
break
elsif t[k] > x
e =1
else t[k] < x
a+=1
end
end

(1) t0i] - tli-1] G =1, 2, 3, 4 00000
(2) x =2000000000000000000
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[data.txt]

oooo MTBF(ODODOO) MTTR(OOOOD)
0ooo A 130 26
0000 B 120 32
oooo C 100 22
0000 D 160 40
0000 E 140 18
0000 F 110 17
oooo0 G 150 26
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#0 0O OO0
#0000

system = []
availability = []

i=0
open("data.txt", "r") do I[::::::]I
while line = f.gets
if /E::::::p =" line

system[i] = $1

availability[i] = E
i+=1
end
end
end
max = 0
j=0
print("O000ON\Nt OO0 \n")
while j < availability.length
printf ("%s\t%4.3f\n", system[j], availability[j])
if
max = availability[j]
name = system[j]
end
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end
printf ("0 000000000 %s 0%4.3f 000 \n",name, max)
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